## COLLOQUIUM MATHEMATICUM

VOL. 84/85

2000

PART 2

## A NOTE ON A GENERALIZED COHOMOLOGY EQUATION

BY

## K. KRZYŻEWSKI (WARSZAWA)

Dedicated to the memory of Anzelm Iwanik

**Abstract.** We give a necessary and sufficient condition for the solvability of a generalized cohomology equation, for an ergodic endomorphism of a probability measure space, in the space of measurable complex functions. This generalizes a result obtained in [7].

Throughout the paper  $(X, \mathfrak{M}, \mu)$  will mean a probability measure space and  $\varphi$  will be an endomorphism of it.

All functions and linear spaces will be complex.

 $M(\mu)$  will be the space of all  $\mathfrak{M}$ -measurable functions on X.

 $\langle \cdot | \cdot \rangle$  will be the inner product in  $L^2(\mu)$  and  $\| \cdot \|_2$  be the  $L^2(\mu)$ -norm.  $I_A$  will be the indicator function of  $A \in \mathfrak{M}$ .

If  $f \in M(\mu), \lambda \in S^1$  and  $n \in \mathbb{N}$ , then

$$S_n^{\lambda}(f) = \sum_{k=0}^{n-1} \lambda^{-k} f \circ \varphi^k.$$

The following definition was given in [3].

It is said that  $f \in M(\mu)$  is  $(\varphi, \lambda)$ -cohomologous to 0 in  $M(\mu)$  if there exists  $g \in M(\mu)$ , called a  $(\varphi, \lambda)$ -coboundary of f in  $M(\mu)$ , such that

(1) 
$$f = \lambda g - g \circ \varphi \quad \mu\text{-a.e.}$$

For applications of these notions, see [3–6]. We will prove a theorem which generalizes Proposition 3 of [7] obtained in the case of an ergodic automorphism and  $\lambda = 1$ .

THEOREM. Let  $\varphi$  be ergodic,  $f \in M(\mu)$  and  $\lambda \in S^1$ . Then f is  $(\varphi, \lambda)$ cohomologous to 0 in  $M(\mu)$  if and only if there exists  $A \in \mathfrak{M}$  with  $\mu(A) > 0$ and  $M \in \mathbb{R}_+$  such that

 $(*) |S_n^{\lambda}(f)(x)| \le M$ 

for any  $n \in \mathbb{N}$  and  $\mu$ -a.e.  $x \in A$  such that  $\varphi^n(x) \in A$ .

<sup>2000</sup> Mathematics Subject Classification: Primary 28D05; Secondary 39B05. Research supported by Polish KBN Grant 2 P03A 041 15.

<sup>[279]</sup> 

To prove the Theorem we need the following

LEMMA. If  $(f_n)$  is a  $\mu$ -a.e. pointwise bounded sequence in  $M(\mu)$ , then there exist strictly increasing sequences  $(n_m), (m_k)$  in  $\mathbb{N}$  such that the sequence

$$m_k^{-1} \sum_{i=1}^{m_k} f_{n_i}$$

converges  $\mu$ -a.e.

Proof. Since a closed ball in the Hilbert space of square integrable functions is sequentially weakly compact (cf. Corollary 8, p. 425 and Theorem 1, p. 430 of [2]), by passing to a subsequence if necessary, we may assume that

(2) there exist an increasing sequence  $(A_l)$  in  $\mathfrak{M}$  with  $\mu(\bigcup_{l=1}^{\infty} A_l) = 1$  and  $f \in M(\mu)$  such that

$$f_n|A_l \to f|A_l$$
 weakly in  $L^2(\mu|A_l)$  for any  $l \in \mathbb{N}$ .

Without loss of generality we may assume that f = 0. Then we prove that

(3) there exists a subsequence  $(f_{n_m})$  such that

$$g_m = m^{-1} \sum_{i=1}^m f_{n_i} \to 0$$
 in  $L^2(\mu | A_l)$  for any  $l \in \mathbb{N}$ .

In the proof we use some ideas from the proof of the Banach–Saks theorem for the Hilbert space of square integrable functions (cf. Théorème I of [1] and Théorème, p. 80 of [8]). By (2), there exists a subsequence  $(f_{n_m})$ such that for any  $j \in \mathbb{N}$ ,

$$|\langle f_{n_i} | f_{n_{j+1}} I_{A_l} \rangle| \le j^{-1},$$

where i, l = 1, ..., j. Now let  $l \in \mathbb{N}$  and  $m \ge l$ . Then we have

$$\left\|m^{-1}\sum_{i=l}^{m} f_{n_{i}}I_{A_{l}}\right\|_{2}^{2} \leq m^{-2}[(m-l+1)\sup_{n\geq 1}\|f_{n}I_{A_{l}}\|_{2}^{2} + 2(m-l)].$$

This proves (3). In view of (3) there exists a subsequence  $(g_{m_k})$  such that

$$\|g_{m_k}I_{A_k}\|_2 \le 2^{-k}$$

for  $k \in \mathbb{N}$ . It is easy to see that  $g_{m_k} \to 0$   $\mu$ -a.e. This completes the proof of the Lemma.

We now proceed to the proof of the Theorem. The "only if" part is easy and is similar to that of the proof of Proposition 3 of [7]. For the sake of completeness, we give a proof. Let g be a  $(\varphi, \lambda)$ -coboundary of f in  $M(\mu)$ . Then there exists  $M' \in \mathbb{R}_+$  such that  $\mu(B) > 0$ , where

(4) 
$$B = \{x \in X : |g(x)| \le M'\}.$$

From (1) it follows that

$$S_n^{\lambda}(f)(x) = \lambda g(x) - \lambda^{n-1} g(\varphi^n(x))$$

for  $x \in X \setminus B_0$  and  $n \in \mathbb{N}$ , where  $B_0 \in \mathfrak{M}$ ,  $\mu(B_0) = 0$ . This yields (\*) for  $A = B \setminus B_0$  and M = 2M'. For the proof of the "if" part notice that, by the ergodicity of  $\varphi$ , there exists  $B \in \mathfrak{M}$  with  $\mu(B) = 1$  such that if  $x \in B$ , then  $\varphi^r(x) \in A$  for infinitely many  $r \in \mathbb{N}$ . Let  $(r_n(x))$  be the strictly increasing sequence of all those r. We now show that

for any  $x \in B$  the sequence  $(S_{r_n(x)}^{\lambda}(f)(x))$  is bounded and (5)

for any  $n \in \mathbb{N}$  the function  $S_{r_n(\cdot)}^{\lambda}(f)(\cdot)$  is  $\mathfrak{M}$ -measurable on B. (6)

For the proof of (5) let  $x \in B$  and  $n \in \mathbb{N}$ , n > 1. Since

$$S_{r_n(x)}^{\lambda}(f)(x) = S_{r_1(x)}^{\lambda}(f)(x) + \lambda^{-r_1(x)} S_{r_n(x)-r_1(x)}^{\lambda}(f)(\varphi^{r_1}(x))$$

and  $\varphi^{r_1(x)}(x), \varphi^{r_n(x)-r_1(x)}(\varphi^{r_1(x)}(x)) \in A$ , we have  $|S_{r_1(x)}^{\lambda}(f)(x)| \le |S_{r_1(x)}^{\lambda}(f)(x)| \le |S$ 

$$S_{r_n(x)}^{\lambda}(f)(x)| \le |S_{r_1(x)}^{\lambda}(f)(x)| + M.$$

This completes the proof of (5).

To prove (6) we first show that for any strictly increasing finite sequence  $(l_i)_{i=1,\ldots,m}$  in  $\mathbb{N}$ ,

 $B_{l_1,\ldots,l_m} = \{x \in B : r_i(x) = l_i, i = 1,\ldots,m\}$  is  $\mathfrak{M}$ -measurable. (7)

This follows by induction from the following equalities:

$$B_{l_1} = \varphi^{-l_1}(A) \cap B \setminus \bigcup_{l=1}^{l_1-1} B_l,$$
  
$$B_{l_1,\dots,l_m,l_{m+1}} = \varphi^{-l_{m+1}}(A) \cap B_{l_1,\dots,l_m} \setminus \bigcup_{l=l_m+1}^{l_{m+1}-1} B_{l_1,\dots,l_m,l_m}.$$

We claim that

(8) 
$$\{x \in B : r_n(x) = l\} \in \mathfrak{M}$$

for  $n, l \in \mathbb{N}$ . This follows from (7), since the left-hand side of (8) is equal to

$$\bigcup_{l_1 < \ldots < l_{n-1} < l} B_{l_1, \ldots, l_{n-1}, l}$$

if n > 1. The condition (8) yields (6).

Now define  $(f_n)$  as follows:

$$f_n(x) = \begin{cases} n^{-1} \sum_{i=1}^n \widehat{S}_{r_i(x)}^{\lambda}(f)(x) & \text{for } x \in B, \\ 0 & \text{for } x \notin B, \end{cases}$$

where  $\widehat{S}_n^{\lambda}(f) = \lambda^{-1} S_n^{\lambda}(f)$ . By (5) and (6), the sequence  $(f_n)$  satisfies the assumptions of the Lemma. Let  $(n_m), (m_k)$  be the sequences from the Lemma applied to  $(f_n)$ . Put

$$g_k = h_{m_k}$$
 for  $k \in \mathbb{N}$ ,

where

$$h_m = m^{-1} \sum_{i=1}^m f_{n_i} \quad \text{ for } m \in \mathbb{N}$$

Then  $(g_k)$  converges  $\mu$ -a.e. to, say,  $g \in M(\mu)$ . We now prove that g is a  $(\varphi, \lambda)$ -coboundary of f in  $M(\mu)$ . In the proof we use the equality

(9) 
$$\lambda \widehat{S}_m^{\lambda}(f)(x) - \widehat{S}_{m-1}^{\lambda}(f)(\varphi(x)) = f(x)$$

for  $x \in X$  and m > 1. Notice that there exists  $B_0 \subset B$ ,  $B_0 \in \mathfrak{M}$  with  $\mu(B_0) = 1$  such that  $\varphi(B_0) \subset B_0$  and

(10) 
$$g_k(x) \to g(x) \quad \text{for } x \in B_0.$$

We will show that for  $x \in B_0$ ,

(11) 
$$f(x) = \lambda g(x) - g(\varphi(x)).$$

First consider the case

$$r_1(x) = 1.$$

We then have

(12)

(13) 
$$r_i(\varphi(x)) = r_{i+1}(x) - 1 \quad \text{for } i \in \mathbb{N}.$$

From (9) and (13) it follows that for  $n \in \mathbb{N}$ ,

$$\lambda \sum_{i=2}^{n} \widehat{S}_{r_{i}(x)}^{\lambda}(f)(x) - \sum_{i=1}^{n-1} \widehat{S}_{r_{i}(\varphi(x))}^{\lambda}(f)(\varphi(x)) = (n-1)f(x).$$

This yields

$$\lambda f_n(x) - f_n(\varphi(x)) = n^{-1}(n-1)f(x) + \lambda n^{-1}f(x) - n^{-1}\widehat{S}_{r_n(\varphi(x))}^{\lambda}(f)(\varphi(x))$$
  
for  $n \in \mathbb{N}$ , which, in turn, gives

(14) 
$$\lambda h_m(x) - h_m(\varphi(x)) = m^{-1} \sum_{i=1}^m a_i(x)$$

for  $m \in \mathbb{N}$ , where

$$a_i(x) = n_i^{-1}(n_i - 1)f(x) + \lambda n_i^{-1}f(x) - n_i^{-1}\widehat{S}_{r_{n_i}(\varphi(x))}^{\lambda}(f)(\varphi(x))$$

for  $x \in B_0$  and  $i \in \mathbb{N}$ . From (14) it follows that

$$\lambda g_k(x) - g_k(\varphi(x)) = m_k^{-1} \sum_{i=1}^{m_k} a_i(x)$$

for  $k \in \mathbb{N}$ . From this, (5) and (10) we obtain (11) under the assumption (12).

Assume now that (12) is not satisfied. Then

$$r_i(\varphi(x)) = r_i(x) - 1$$
 for  $i \in \mathbb{N}$ .

This and (9) give, for  $n \in \mathbb{N}$ ,

$$\lambda \sum_{i=1}^{n} \widehat{S}_{r_i(x)}^{\lambda}(f)(x) - \lambda \sum_{i=1}^{n} \widehat{S}_{r_i(\varphi(x))}^{\lambda}(f)(\varphi(x)) = nf(x).$$

Hence

$$\lambda f_n(x) - f_n(\varphi(x)) = f(x),$$

which, in turn, yields

$$\lambda g_k(x) - g_k(\varphi(x)) = f(x)$$

for  $k \in \mathbb{N}$ . Together with (10) this implies (11). Thus the proof of the Theorem is complete.

## REFERENCES

- S. Banach et S. Saks, Sur la convergence forte dans les champs L<sup>p</sup>, Studia Math. 2 (1930), 51–57.
- [2] N. Dunford and J. T. Schwartz, *Linear Operators*, Part I: General Theory, Interscience, New York, 1958.
- [3] K. Krzyżewski, On regularity of measurable solutions of a cohomology equation, Bull. Polish Acad. Sci. Math. 37 (1989), 279–287.
- [4] —, On 4-lacunary sequences generated by ergodic toral endomorphisms, Proc. Amer. Math. Soc. 118 (1993), 469–478.
- [5] On 4-lacunary sequences generated by some measure preserving maps, Acta Math. Hungar. 74 (1997), 261–278.
- [6] On some Sidon sequences, Internat. J. Bifurcation Chaos 9 (1999), 1785–1793.
- J. Kwiatkowski, M. Lemańczyk and D. Rudolph, Weak isomorphism of measure-preserving diffeomorphisms, Israel J. Math. 80 (1992), 33-64.
- [8] F. Riesz and B. Sz.-Nagy, Leçons d'Analyse Fonctionnelle, Akadémiai Kiadó, Budapest, 1952.

Institute of Mathematics Warsaw University Banacha 2 02-097 Warszawa, Poland E-mail: kkrzyz@mimuw.edu.pl

Received 2 August 1999

(3803)